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310 Vacuum pump

A vacuum pump creates creates a vacuum region that is connected by a pipe to a pool of

water. Assuming that the pool of water is at sea-level, determine the maximum height which
the pump can lift water.

Answes- E=O |
nSwe: = Poy pgd l d{ é /_b?mm ,

, 2l pressus.
L OxIOPa = OFa s 1000 1 8MIs" xdl [/y///////
S ™3

sea -lewel

ahvws})hm'c PESi e

o LOoIXIOSP= 2.8xI0° N/ d

|, 01103 Pe,
=0 d: qu)03 M/m? =D d: | O3 1 B
Warm UpZ
Bmﬂm%

Certzun objccts float in Flwds , Twug e Fladd
must  exert an upwwd buogcml— fore 10 .
comtwact #e donwewd weght forc. Tiis Tore
oxisks even when e ab']cd s mmersed m He
Jiid and  results fom o pesswe grachent Newloal

L&w& (awg, " g

smallor pressie.

'r[w:'tl s . ‘_:__-—;
Ay flwd exols o buoﬂcm} terce o = :
\) Poinrs V.pwwd S s
2) has Merg ol TR P g_ \/ausp loiger plesswe

whgre \/O\ABP s ¥e voume of ¥ fluid wbplaced [ Moved zside
to atcommedale) bdﬂ Y ob\]-ar.g




314 Wooden block in water
A piece of wood has volume 8.00 x 1073 m® and density 910 kg/m?. It is submerged in water

(density 1000 kg/m®) and held at rest by a hand.

a) Determine the buoyant force exerted by the wood.
b) Determine the downward force exerted by the hand on the block.
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